Moto UP OSL [MEm=> /sh ~7R!
2024> D) =R > bR

OKEGAWR

sportsLand
EXr—o35X ZRILAOSR
Pos | I>bF5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos|I>bM5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 B4R &R 15 8 20 43 1 | tH =1 20 12 20 52
2 |[E 5ALBA 12 20 10 42 2 |(/o/veE+x 15 8 23
3 |NK 20 20 3 |miya 12 10 22
4 |FEHE =4 15 15 4 [FT=A 20 20
5 |= 88 15 15 5 (Ho 10 6 16
6 |B#E & 8 6 14 6 |Bi BA 6 10 16
7 | FE 12 12 7 |&E% RE 15 15
8 | ~<A 12 12 8 |7Z<Hh 15 15
9 |DILT+1—GTI 10 10 9 |&HZEHEN 12 12
10 |LIFTED 10 10 100|548 K 8 8
11 |4 E £t 8 8 11 |l E— 8 8
12 |12~ 6 6 12 [ Z— 6 6
13 |9L5 6 6 13 0
14 0 14 0
15 0 =R BUSXR
16 0 Pos| T>M5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
17 0 1 |ER{LCS 20 20 8 48
Fv L>ZH~CARTIS X 2 |/h\fa IEX 15 15 10 40
Pos| T>M5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 3 |[&EDwn 8 8 12 28
1 [&BFA 20 20 20 60 4 |[Bit BB 12 10 22
2 [DR> 12 12 10 34 5 [EF & 20 20
3 [FrEA 8 10 15 33 6 |lTFED 15 15
4 |5 15 15 30 7 [BH BiE 6 6 12
5 |[#E 10 8 12 30 8 |fEl f@— 12 12
6 [WE&S=A 6 6 8 20 9 |k 10 10
7 0 10 [IBK 1B& 6
8 0 11
FrL>2ZOSR 12
Pos|I>bF5>b%| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total THX/)=hk
1 |BEE BB 20 20 40 Pos| T>M5> 4| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
2 [TV 15 10 10 35 1 |6<H 20 20 40
3 | kD 15 20 35 2 (A R— 20 12 32
4 |Z—EF— 10 8 12 30 3 |ULzao&k 15 15 30
5 |taka 12 6 18 4 |PFRVE 12 8 8 28
6 |Ek —&= 15 15 5 [EHE =12 15 15
7 |19+ 8 6 14 6 [T2BBrA 12 12
8 |kt 12 12 7 |BiRE 10 10
9 |<3D 8 8 8 [UOTHEBYA 10 10
10 |86Work 6 6 9 |=f& & 10 10
11 0 10 |yosi 8 8
K-CARZJSX 11 |RR Bt 6 6
Pos| I>bF5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 12 |[ANFF337 6 6
1 |2vD 15 6 20 41 13 0
2 |(F e 20 15 35 14 0
3 |IE~7> 10 20 30 15 0
4 |K 8 12 8 28
5 |1—>2 6 8 12 26
6 |fz\WE 15 15
7 |aqu 12 12
8 |[HAZD 10 10
9 [=E5_=35 10 10
10 [hERE H— 6 6




